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(continued)

Chapter 7 BLM Answers
BLM 7–2 Chapter 7 Prerequisite Skills

1. a) 12  b) 10  c) 6  d) 18  e) 30  f) 16  g) 60  h) 18  

2. a) 4  b) –1  c) –2  d) –3  e) –10  f) –14

3. a) 2 + 7r + 4z  b) 9y − 3  c) −3 + 4r  d) x + 3y + 4  

e) −5k − 5t + 2  f) −8t + 22  g) 6x − 8y − 6z
h) 4q + 4p − 1

4. a) 3x + 6  b) 13q + 6  c) −11p + 17
d) 11k − 11 or 11(k − 1)  e) 10e − 6 or 2(5e − 3)
f) 20k + 24 or 4(5k + 6)  g) −7x + 20  h) 7r + 11

5. a) 5  b) 7  c) 1  d) –9  e) 0  f) 
[image: image1.wmf]5
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6. Shaded tiles are positive and white tiles are negative. 

a) [image: image2.png]



b) [image: image3.png]



c) [image: image4.png]



d) [image: image5.png]



e) [image: image6.png]



f) [image: image7.png]



BLM 7–3 Chapter 7 Warm-Up

Section 7.1
1. a) 
[image: image8.wmf]1

2

  b) 
[image: image9.wmf]5
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-

  c) undefined

2. a) 
[image: image10.wmf]2

3

-

  b) 2

3. a) x-intercept: (9, 0), y-intercept: (0, 6)

b) x-intercept: (1, 0), y-intercept: (0, –2)

4. a) $240  b) $400

c) Example: Let C represent the cost, in dollars. Let t represent time, in hours. C = 200 + 4t
5. a) 
[image: image11.wmf]2
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 or  
[image: image12.wmf]2
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  b) d = 
[image: image13.wmf]π
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Section 7.2

1. a) y = 
[image: image14.wmf]2
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x + 6  b) y = 2x – 2

2. a) y = –4  b) x = 5

3. a) [image: image15.png]



y = 
[image: image16.wmf]1
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x + 7


b) [image: image17.png](<3}
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y = 5
4. a) x = 
[image: image18.wmf]9
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  b) x = –28

5. a) y = 
[image: image19.wmf]3

4

x + 3  b) y = 
[image: image20.wmf]1

3

-

x + 4

Section 7.3

1. a) 2x – 3y + 3 = 0  b) x + 5y + 15 = 0

2. a) 2x – y + 13 = 0  b) 4x – y – 6 = 0

3. a) 3x – 12  b) 4x – 4

4. a) y = 
[image: image21.wmf]5
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x – 5  b) y = 
[image: image22.wmf]1
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x + 2

5. a) [image: image23.png]=~





y = 3x – 1

b) [image: image24.png](<]
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y = –2x
Section 7.4

1. a)  3  b) 
[image: image25.wmf]2

5


2. a) y – 5 = 
[image: image26.wmf]2

3

(x + 1)  b) y – 2 = 
[image: image27.wmf]1

4

(x – 4) or
y – 3 = 
[image: image28.wmf]1

4

(x – 8)

3. a) y = –4x + 15  b) y = 
[image: image29.wmf]1

2

-

x + 6

4. 4x + y – 19 = 0

5. a) 
[image: image30.wmf]5
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  b) 
[image: image31.wmf]1

3

  c) 5

BLM 7–6 Section 7.1 Extra Practice

1. a) m = 5, y-intercept: (0, –3)

b) m = 0.1, y-intercept: (0, –5.7)

c) m = 
[image: image32.wmf]1

3

, y-intercept: (0, 4)

d) m = 
[image: image33.wmf]3
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, y-intercept: 
[image: image34.wmf]1
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2. a) [image: image35.png]FS
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b) [image: image36.png]+ 3
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c) [image: image37.png]



d) [image: image38.png]No

No





3. a) y = 
[image: image39.wmf]4
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x + 4; m = 
[image: image40.wmf]4
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, y-intercept: (0, 4)

b) y = 
[image: image41.wmf]1

2

x + 4; m = 
[image: image42.wmf]1

2

, y-intercept: (0, 4)

c) y = 
[image: image43.wmf]2

3

x – 2; m = 
[image: image44.wmf]2

3

, y-intercept: (0, –2)

d) y = 5x – 12; m =  5, y-intercept: (0, –12)

4. a)  y = 2x – 5  b) y = 6  c) y = 
[image: image45.wmf]1

3
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x  d) y = –6x + 2

5. a) 
[image: image46.wmf]11
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; 2x – 6y = –3

b) 
[image: image47.wmf]21

54
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; 8x + 20y = 5

6. a) m = 1, y-intercept: (0, –2); y = x – 2 

b) m = 
[image: image48.wmf]3

2

, y-intercept: (0, –1); y = 
[image: image49.wmf]3
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x – 1

c) m = –2, y-intercept: (0, 3); y = –2x + 3

d) m = 
[image: image50.wmf]1
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, y-intercept: (0, –2); y = 
[image: image51.wmf]1
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x – 2

7. a) y = 2x + 2  b) y = 
[image: image52.wmf]9
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x – 3  c) y = x + 4

BLM 7–7 Section 7.2 Extra Practice

1. a) 3x + y – 5 = 0  b) 2x – 3y – 12 = 0
c) 9x + 6y – 2 = 0  d) 8x – 20y – 3 = 0  e) y – 1 = 0
f) x + 2 = 0

2. a) x-intercept: (–4, 0), y-intercept: (0, 12)


[image: image53.png]yif
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b) x-intercept: 
[image: image54.wmf]9
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c) x-intercept: 
[image: image56.wmf]3
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 y-intercept: (0, –3)
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d) x-intercept: 
[image: image58.wmf]3
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[image: image60.png]NI





3. a) x-intercept: (4, 0), no y-intercept; domain {4}, range {y ( R}


[image: image61.png]



b) no x-intercept, y-intercept: (0, –1); domain {x ( R}, range {–1}


[image: image62.png]



c) no x-intercept, y-intercept: 
[image: image63.wmf]5
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domain {x ( R}, range y = 
[image: image64.wmf]5
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d) x-intercept: 
[image: image66.wmf]1
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, range {y ( R}
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4. a) x – 3 = 0  b) y + 2 = 0

5. a) [image: image69.png]No

N





x – 4 = 0

b) [image: image70.png]



3y + 1 = 0

6. a) E  b) A  c) C  d) B  e) D

7. a) x + 1 = 0  b) y – 2 = 0

BLM 7–9 Section 7.3 Extra Practice

1. a) y = 5x – 11, 5x – y – 11 = 0

b) y = 
[image: image71.wmf]3

4

x + 
[image: image72.wmf]1

2

, 3x – 4y + 2 = 0

c) y = x – 
[image: image73.wmf]9

2

, 2x – 2y – 9 = 0

d) y = 2x – 
[image: image74.wmf]18

5

, 10x – 5y – 18 = 0

2. a) y – 3 = 2(x – 3)  b) y – 1 = 
[image: image75.wmf]1

2

-

(x – 2)
c) y – 3 = 
[image: image76.wmf]2

7

(x – 5)

3. a) y – 4 = –5(x + 3); y = –5x – 11; 5x + y + 11 = 0

b) y – 1 = 
[image: image77.wmf]1
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 y = 2x; 2x – y = 0

c) y – 3 = 3(x – 0); y = 3x + 3; 3x – y + 3 = 0

d) y – 0 = 
[image: image78.wmf]1

2

(x + 5); y = 
[image: image79.wmf]1
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x + 
[image: image80.wmf]5

2

; x – 2y + 5 = 0 

4. a) y = x – 3; x – y – 3 = 0  

b) y = 
[image: image81.wmf]1

3
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x + 5; x + 3y – 15 = 0


c) y = 2x + 10; 2x – y + 10 = 0  

d) y = 
[image: image82.wmf]1
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x + 
[image: image83.wmf]7

3

; x + 3y – 7 = 0

5. a) m = 
[image: image84.wmf]1
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, (–5, 3)
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b) m = 
[image: image86.wmf]4
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c) m = 2, 
[image: image88.wmf]2
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[image: image89.png]7 40





d) m = –4, (–0.4, 5)  
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6. a) y + 6 = 0(x + 5); y = –6  

b) y – 1 = 2(x – 4); y = 2x – 7

c) y – 0 = 
[image: image91.wmf]1
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(x – 4); y = 
[image: image92.wmf]1
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x + 2

7. a) y – 5 = 
[image: image93.wmf]15
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(x – 0); 15x + 4y – 20 = 0

b) y – 4 = 
[image: image94.wmf]4

5

(x – 0); 4x – 5y + 20 = 0

c) y – 0 = 
[image: image95.wmf]2

5

(x – 0); 2x – 5y = 0


BLM 7–10 Section 7.4 Extra Practice

1. a) 3, 
[image: image96.wmf]1

3

-

  b) –4, 
[image: image97.wmf]1

4

  c) 
[image: image98.wmf]1

3

, –3  d) 0.4, –2.5

2. a) 2, 
[image: image99.wmf]1
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  b) 
[image: image100.wmf]3

4

, 
[image: image101.wmf]4
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  c) 
[image: image102.wmf]1
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, 4  d) 
[image: image103.wmf]2
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, 
[image: image104.wmf]5
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3. a) 12, 
[image: image105.wmf]3

4
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  b) 1, –1  c) 2.5, –10  d) 9, –25

4. a) Parallel; the slopes are equal.

b) Neither; the slopes are not equal and they are not negative reciprocals.

c) Parallel; the slopes are equal.

d) Perpendicular; the slopes are negative reciprocals.

5. a) y = 4x – 11  b) y = 
[image: image106.wmf]2
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x + 2  c) x = 4

6. a) y = 
[image: image107.wmf]113

33
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  b) y = 
[image: image108.wmf]1

2

x + 5  c) x = –1

7. a) y – 5 = 0  b) x – 1 = 0  c) 3x – 4y – 24 = 0  


d) 3x – y – 10 = 0

8. a) Rectangle. Example: The opposite sides are parallel and the adjacent sides are perpendicular.

b) line AB: y = 
[image: image109.wmf]217
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[image: image110.wmf]51
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line CD: y = 
[image: image111.wmf]241
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[image: image112.wmf]5
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BLM 7–11 Chapter 7 Test

1. C  2. D  3. B  4. C  5. A  6. 3  7. 5  8. 8

9. a) m = 0, y-intercept: (0, 6)  b) m = 
[image: image113.wmf]3

4

-

,
y-intercept: (0, 1)  c) m = 2, y-intercept: (0, –3)

d) slope is undefined, no y-intercept

10. a) 
[image: image114.wmf]11

3

  b) 
[image: image115.wmf]2
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11. a) 
[image: image116.wmf]1
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  b) 
[image: image117.wmf]5
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12. a) It represents the balloon’s height of 3 m above ground before it begins rising, at time 0 s.

b) {t | t ≥ 0, t ( R}; Example: Since time is positive, this results in a restriction on the height of the balloon.

c) 18 m  d) 16 s
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